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What is a Concept map?

A Concept map is a diagr‘am that shows re!aﬁonshps between

concepts.
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What is a Concept map? I

A Concept map is a diagram that shows relationships between concepts.

... an examp?e would be our q{uadrihtera! famﬂg tree diagram.
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How eould a eoncept map apply to a proof? I
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How couH a concept map app!\j to 2 Proo‘f?

1t can be used to show how the concepts (ﬂweorems/posfu!afes/efc)

are used toseﬂwer to arrive at the conelusion.

Simple example: Given that AARC = AXYZ, prove that BC = YZ

AABC =~ AXYZ given
BC ~Yz  cPcTC

BC =Y~ 'Jefh =
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Alt int Z Thm (3-1) ASA

\ /

A diagonal of 2 parallelogram divides the
parallelogram inte 2 = A's. (Thm %)
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bisect each other. (T}\m 6»3)
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Consider this concept map...we will use it to prove Thms 6-1, 6-2 & 6-3 I
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Do ﬁ\e worksheef... I
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LG.Z HW ProHems

...the worksheet! :)
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